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•Based on estimates made by Leonardo Energy in 2005, these six economies comprised 70% of the 
global market.  
•At the time, these six markets had approximately 83 million transformers installed based on a low 
first cost method, meaning lower efficiency.
•The top six economies would save 161 TWh of energy annually with high efficiency transformers
•This translates to more than 200 TWh globally and 100M tonnes of CO2
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For a 10 hp Motor of  different efficiencies, copper content is:
Standard 5.5
High 8.6 +58%
Premium 9.6 +75%

The International Energy Agency estimates:
•Motors and motor driven systems consume 40% of electricity world wide
•Motors as a percentage of industrial electricity demand is thought to be as high as 
60 - 70% 
If all economies used best practice motor “systems” electricity consumption  by 
2030 would decline by 10%, eliminating  as much as 3000 Terawatt Hours 
(Terawatt = 1012 W) of demand and from 1.3 to 1.8 giga-tonnes of CO2.
Let us start with carbon. What is 1.8 Giga tonnes of CO2?
•More than 500 coal-fired plants of 500MW each
•About 1.5 x current emissions from energy of India, or of Japan
•300 times current U.S. wind energy capacity
•3 times the much-touted energy savings from phasing out incandescent lights in favor of 
compact fluorescent bulbs, or CFLs
Interesting, but now let us make it simple to understand. What is 3000TWh?
•That represents about 75% of current yearly US electricity demand … 75%
Let us ask again what is 1.8 giga-tonnes of CO2?…
Answer: about twice the Kyoto protocol if all countries were to meet their targets.
So, the motor market provides grand potential…for copper and for funding of copper 
promotion.



10

$5954/:�';�4������<������	�&	�
��������7 ' �5�#�	��
������=	����������&�������������7 ' �
2���	�
�������5��	&��������&����������#��
����������	������������#�	��
������	��&��
���	&�������������	������������	������� �
����	
��������	
�
$/�����	
����������
�������>?���&����%������	���������	&�����������?��
$5��	&��5�����������	�����������	��	����������������?�

$ !����.�����
���&�
�������
�	�����������������	�#��� �����	
����������	
�
$'���	�������
����������	�������&����
����
�	��������������������������&��	�
�	�����
�����	
$;������������	������	����#��"��. >?��@��������&�������A
�
��������	�	�
������	�
���
$ 4��	�&�	���	���	��*���
�	�����������
$ 2��������	�����

$ 7����B����&�������������
���	�

10



11

'�
���	��	�#�	�����4���������������������(�����
�	���	������������

�	����������������� 

7 ' ��������&
?������7 ' ����	&�C��������7 ' ������	�����
*������������	���������������	�����7 ' 

D552���	�����������	����������	����&��+����������� �9���<���������
��������&���	&�
���(������
��������
����	&�
��� �'������������D552���	��������������&����

���1

����	�������	�
��

>����������	�����	�
��


7'�/	�����������&�%�������
�
��	���������	�
��������*��������*(����
�
��	�����

/	�����������&��
���������
��������1



12

/	�������������&�������	��������������	����������������#����������������������������	���
����	��	���������&	����	������	������������������������	��������������	������������	1�

5����	���
���	�
��	��&�������������	�
'���	��&
�	����
=���	������	���������
�����	����������&�

;�������	��	���������#������������	�
������������
���	����������������	������������	�����
������������ 

12



13

��������#�����������#�����������	�����&������
��������������	������
����������&����@�%5A(�

�	�������	������������������	�����B�	���
�������#������� ��

13



14



15

$�������7 ' ������(�����#�	�&�����	���	��>�
������������������
��	�����������������������@����
&�������������������������������
�����	���<�	��������
��������������������������������
���������A

$���������(������������������������	��������������
$%����	#���#������
�����������������������&����&���������������������8>����������

$%����	�������������
���	����������	�&����	����������7'�5=����	���������	��������
��	������
���������������
$%����	����������������������
������������������(�
�����	����
����������	������	�����
��������&1

$!4'�
$��%���
$'����
$)���	�



16

'����������,�����-���������	������	�#��������������	���@%������6�	
��&�7����A�	�
����
�	����� ��
$;������������	����E �"(����%67F����
*�

$'���������������	����E "(?��
$;��������������
���
����E >(�������?(���
$��
�����	���#����	���	��&������	��E *(>*��%67F����
*

$5+����	������
��������&�����������%67G� �

��������+������������
�	�������	���������	������������������	�����������������������������
�����
������	�����
��	�����������	��	����������	����� ���������������������	���������������
��	�(�%2������������	���&��������
����������
��������	���H�������(����	������������
��	���	�(���
����	�������	��������#����+�	������
���
��� �

16



1717



18

•Copper is, pretty much, indestructible

•Copper has a very long life

•Life Cycle of New Copper Scrap ~ 30 Days

•Life Cycle of Old Copper Scrap
Electrical plants and machinery 30 years
Non-electrical machinery

15 years
Housing 45 years 
Transportation 10 years

Average ~25 
years 
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